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% cc sample-MT-exp.c ran-MT.c aAVIN1IL - U2y
$ ./a.out > data-uniform FEITHERZTI7F7AILICEEZTET

python ZAHHWTE XA NI S L (BEESDH) ZH<

# 771D T—9E25mHAAATHRES M AZH<CI—N

import numpy as np
import matplotlib.pyplot as plt

data = np.loadtxt('data-uniform"')

print(min(data)) # &/IMEZZ*RK
print(max(data)) # ERXEZFRK

fig = plt.figure()# RZzEFHIHD fig

# SHE 0, 1. DEBR0THEENMmEH <, EHRLICIERL,

plt.hist(data, range=(@, 1), bins=10, density=True, edgecolor='black"')

plt.show()

fig.savefig(‘fig_uniform.eps’) # X% eps X THRE
2
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#include <stdio.h>
#include <time.h>
#include <math.h>

#define GAMMA 2.0  <— FEMDHTDINTXA—4 y BHTFE

extern void init_genrand(long);
extern double genrand_real2(void);

int main(void)
{
long seed;
int 1;
double rand, rand2;

seed = (long)time(NULL); // seed DFEE
init_genrand(seed); // seed T#JHA{L

for(i=0; 1<10000; i++){
rand = 1 - genrand_real2(); <— | —UJ[O0, I) = U(0, I]
rand2 = -log(rand)/GAMMA;
printf("%.20f\n", rand2);

}

return 0;
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% cc sample-MT-exp.c ran-MT.c AVIINAIIL - Uy

$ ./a.out > data-exp EITHERZ 7 7AMIVLICEZTLRT

python ZFBWTER NI T L (BEEDT) ZiH<

# IJ7AIDST Y EmtAATHEESmE#HCI—R

import numpy as np
import matplotlib.pyplot as plt

data = np.loadtxt('data-exp')

print(min(data)) # =/IMEZZFREK

print(max(data)) # |RKEZXRRK

fig = plt.figqure()# MZEZHIHD fig

# FE 0, 1. DEIHROTHENMMZHE <, HELICIER,

plt.hist(data, range=(@, 4), bins=20, density=True, edgecolor='black"')

plt.show()

fig.savefig(‘fig_exp.eps') # K%z eps X THRRE
6
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MathematicazZz FHWWTCHERL (SEZERZZSH)

SetDirectory["/Users/takasu/ 5T E 1 £ ER 2023/

data = ReadList["data-exp", Real];

Length[data]

gHisto = Histogram[data, {0, 5, 0.1},“PDF"]
myFunc = PDF[ExponentialDistribution[2], X]
gPDF = Plot[myFunc, {x, 0, 5}, PlotRange -> All]
Show[gHisto, gPDF]
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BRHTEHHDET S

int rv_bernoulli(double prob)
{

int event;

return event;
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int rv_binomial(int num, double prob)

return count;

}
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int rv_poisson(double lambda)

return count;

}



